1

When was ‘Elephant Project’ o

A i 7
(C) April, 1992 (B) February, 2002
(C) February, 1992 (D) Apri
‘ pril, 2002
T AR B e ) ,
AA) atm, 1992 (B) wwdy, 2002
(©) wad, 1992 (D) s, 2000
2 Which distri : .
- g‘;’p:lllls:‘l‘r;cl of Rajasthan tops in the production
; (A) Kota (B) Ajmer
'. (C) Barmer (D) Bikaner
TR & 5w B § R @ ware TR
T ¥ 7 ’
() mrr o (B) e
(©) wm (D) dwrr
3 Whiéh.of the following ailments can be prevented
by maintaining a balanced blood pressure?
(A) Rheumatism (B) Heart Attack
(C) Typhoid .(D) Jaundice
AN & Hgfd @ ¥, Prefaiaa § & feg afr | 9
¥ TG FHAT 7 :
(A) wiean .(B) w=aww™
(C) zmwigs (D) ferar
4  Which fort of Jaipur has the cannon foundry in it?
(A) Moti Dungari (B) Amber Fort
(C) Nahargarh Fort (D) Jaigarh Fort
wage & few gl ¥ A @ & sar 20
(A) wrl S (B) TG 9% )
C) -eTe D) wame
& ) afo1si4
. . 10
5 Square root of 915849 is - : _
. 915849 T TGN ¥ - €
2 (A) 957 (B) 953 Th
(C) 973 (D) 937
‘%ﬁ The Ahirwati dialect is spoken mainly in the
4 he Ahirwati di 15i8p y
4 district of Rajasthan.
{%3‘ K4 (A) Jhunjhunu (B) Jaipur 11
\b (C) Alwar (D) Bharatpur
WY adrard) de g ' W T & ot &
Vl 3ty de e ¥
(AROR it (B) gt «
(C) ar@ax (D) wTagX
YL
4MG ] -:H: S 2
STy v

: ; the lac insect?
The Lac is secreted by which part of
1e Lac 1
(A) Anal opening
(B) Skin
(C) Salivary glands
(D) Abdominal glands

wmﬁ%ﬂﬂméwﬂ
(A) T fisx

(B) w4l

(C) @ Tt

(D) sl Tl

ranT Bl ¥ 7

Area of a equilateral triangle is 40043 9. m. then

perimeter is -
(A) 135 meter (B) 120 meter

(C) 150 meter (D) 90 meter
ey waTg B @ A 40043 T ¥ @

Tgep AT ¥ -
(A) 135 ¥R (B) 120 WX
“(C) 150 Hrx (D) 90 #rex

The different layers in graphite are held
together by -

(A) Covalent bonding

(B) lonic bonding

(C) Weak Van der Waal's forces *
(D) Metallic bonding :
ez § e O U @iy e e § -
(A) weeded d9

(B) smafe 99 &

(C) gd@ 9™ ST I I ¥

(D) w=fes 99 |

The famous 'Bam dance' is associated to which
district?

(A) Jaipur (B) Bharatpur

(C) Bikaner (D) Jalore

TS T A T & Rew B ¥ geafug &0
(A) ST (B) wagx

(C) drari, (D) Wik

Which of the following sets of letters do not suffer
lateral inversion on reflection from a plane mirror?

frt el & wE ¥ ¥ -} o ¥ wp & awd

T H &9 ¥ Wed uftads @ ot T aa?

(A) e (B) HGA
Bl S50 (D) HOX
g);, & [ Contd...
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H':n'““ (it

: ints th mbers and chaif he
12 In which district of Rajasthan, second leopard safart 18 Sf;imguanﬁzméigl?t:]ecofe“miSSiOn 0‘:‘ : v
O Vi starecwessiaredt commendation of a committee headed BY *
(A) Alwar (B) Sawai Madhopur re y
(©) Jai (D) Sikar () Spetkpr
pur B) Home Minister
TR ¥ feg R 3, T B gl and gwrld I8 EC) Ehief Miriiater
B TP D) Leader of opposition
eader of 0 . & gl
(A) et (B) T WEYY (Tmmaﬁhmm%ﬁmﬂ@mﬁ e
e () s T il B o T § BT
: ) Prefifag & 7
13 Choose the correct Hindi translation of the A & B e &
following word from the given options : (A) PrememT SreART e
Memo . (B) AT
A) wgfy - (B) ersfgtardt o= (C) geaatl e
(C) w9, (D) g9 (D) fur@en & Jar wiqd
14 A cube, painted red on all the faces, is cut into | 19  In the Constitutioﬁ_ of India, the term 'Federal' used
125 cubes of equal size. How many cubes are (A) Nowhere
painted on three faces? (B) in the Preamble
& 99 F g Gael Bl | O T 2159 125 99 (C) in Part III of the Constitution
T F @rer ol &1 e w @ A aqel @ Im (D) in Article 368
T & ? TRAE g § dEE g -
(A) 64 (B) 10 (A) & o wga T goul @
(C) 8- (D) 25 (B) SEfiram ¥ wgad gom ¥ .
(C) dfqam ¥ o 111 & wgad gon &
15 Ez;‘tr;it ang.Landscape are options of : (D) orgede 368 ¥ wgE Fom 2
age Size
(2) PaperOSI.ze . 20 Which of the following devices has a cylindrical
ED; EZSE L;;e;tftlon drum called a 'photo receptor'?
u
; _ #(A) Flatbed plotter (B) Keyboard
wize ;ﬁigg&;] forea % (C) Laser printer (D) Joystick
Eg)) WW(TT)W frer % & P SuTT ¥ 0 JeeeR 9 B 3, R
ki TH HRINET FeEd ¢ 7
(g):;f;ﬁﬁ@mﬂ- .(A) We¥s wix  (B) @S
Sl © #m i (D) s
16 Select the number group from the options which | .
. 21 G Mendel used
is alike with the number group (2, 11, 56). e;;f;rmenf: e AL SRt Eomels
ﬁ'q g feedt § § E‘H;@T WE @ T I A (A) Gossypium hirsutum
we @ (2, 11, 56) & 9 2 (B) Pisum sativum
(A) (7, 35, 70) (B) (4, 20, 106) (C) Triticum aestivum
(C). (3, 16, 81) D) (5, 26, 79) (D) Oryza sativa _
) TR Hed it
17 Sambo Lapung is associated with which sport? SR S 3 S
o T fesan A
(A) Weightlifting (B) Pole Vault i R
(C) Wrestling (D) Chess (A)
Frt Ty few A ¥ v ¥ . (B) W G -
(A) I o (B) t ate . (€) A% SR
(C) Pl (D) st (D) Sz Fersan
4MG | r:-‘{'l:' 3 [ Contd...
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~= LN BV -) . e i .
g™ i sl i =
o 25 e
52 In which year Rajasthan State Handloom |27 A circular grass field of diameter 42 m j,
] Development Corporation was constituted? surrounded by a path of width 3.5 m. What wil|
r' v T Tt famr frr fea ad A w@fufa the cost of graveling the path at the rate T 4 .,
| am an? square meter? ) .
| (A) 1986 & (B) 1984 42ﬁmﬁwmﬂ_%aﬁﬁﬁwmm
(C) 1983 (D) 1985 3.5ﬁ’r?ﬁ€,1w%nmﬁ?4uﬁ1ﬂﬁmaﬁwﬁ
: _ s Prgar @ @d B ?
23 Who appoints the chairman and members of Joint (A X 1001 (B) ¥2002
Public Service Commission for two or more states? (G), T500.5 (D) 22012
(A) Chairman of Union Public Service \:':
Commission : 28 Batentibility criteria does not includes -
{ (B) Prime Minister {Rf published data e e
;-’ (C) Governors of the concerned state g‘)" Novelty :
' (D) President ga)t [nventive step < dien

ol GTRRB '{'mﬁ % fo wgad o e s % | (D) Capable of Industrial applicaiion
e v el A g fre @ B T B | 4% mes § au g T

(A) €9 Wi Fa1 @ F s T (A) vl Sifes
(B) Wl &1 _ (B) wEr
(C) =i & TAuTel & . [C) anfrwpreeher wad =
(D) g &m (D) oieifres Judrm & H
' i
24 E:?z;g:l?:tnl‘:?OIk" Drama belongs to which area of | 59 &fimixture of. alcohol and water can be best
: separated by -
(A) Bikaner (B) Bharatpur (A) Decantation
(C) Dausa (D) Udaipur (B) Evaporation
T Wi e TR % fea 8 ¥ weifud ¥ 7 (€) Sublimation
(ﬂﬁ (B) widgie [&Q) Fractional distillation :
©) @ (D) ST Y1 olT Tt % AT B wEd ored AT W o |
: _ ot S e T -
95 Indira Gandhi Canal programme for forest (A) P & -
development project is a joint venture of overseas "(ﬁ) arelET T
economic co-operation fund. Which two countries (C) T &
are involved for the project? :@—a) e ST T
(A) India and Bangladesh N v

(B) India and Canada

(C) India and China

(D) India and Japan

e Ty TET afareT afyeT Weee overseas

30 ‘Which of the following is a source of income of
Gram Panchayat?

(A) Tax on Land (B) Income Tax

(€) Sales Tax (D) Property Tax

economic co-operation fund &1 ¥ga HIed T - : p ;
Pt § @ -8 @ TE & 49 q& @ i o ¥ @ T U @ ST w8
g a1’ : (A) &W' (B) ama &X
. a) .
(A) |G i areRy ((\% i (D) ¥ FT
(B) W@ it &AET » 31  Where is 'Desert National Park' situated ?
(C) 9| @ik 9 (A) Jaisalmer — Jodhpur b i
(D) wred 3 SIa (B) Bikaner — Jaisalmer -
(C) Jaisalmer — Barmer
26 If 2x—3y=79 and x+6y =47, then the value of (ﬂ) Barmer — Jalore
(x—y) is - S wESA wEl fed € 7
afs 2x—3y =79 A x+6y=47 T, A (x=p) T (A) T — S
e B ¢ (B) e — et
(A) 44 (B) 40+ (C) SrawdT — AT
(C) 42 (D) 38 (D) AEHT — T
4AMG | wrz2-3297 7.3 4 " | Cont
r e A R T ;@6?' e
oz -3% 2 13 - = '
{ _— - ;Z; $ay 7 9\
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MG | S | R

* Which family is famous for "Theva art"?(?{

-

FIFF T

Who coined the term Heterosis? ! £ 4|37
(A) Kolreuter (1763) i

(B) Jones (1918 s

(C) Allard (1963) T g d
(D) GH. Shull (1914) = 11
g ‘Gt o fpa wiquifea femar ?

(A) HRgeT (1763) 'H“:J

(B) wirg (1918) »
(C) uware (1960)
(D) situa. s (1914)

Who wrote "Bikaner Ke Rathore Ri I(h?{ﬂ"?
(A) Surajbhan (B) Nainsi

(C) Kavimaan (D) Dayaldas [™
HET F e A T F TEs a AL)

(A) oW ~(B) AviEix ey

(C) HRHA « (D) =R <

The points scored by a Kabaddi team in<d'series
of matches are as follows : (QN]

17, 3, 7. 27, 15, 5, 14, 8, 10, 25, 50, 108, 7,
18, 29 [~

The median of the points scored by the team is -

i B st ¥ AL AN T T T IH FH

WHK & : o

17, 3, 7, 27, 15, 5, 14, 8, 10, 25, 50, 10, 8, 7,

18, 29

I T R T ofal @Y A ¥ - <

(A) 18 (B) 12 N

(©) 10~ (D) 25 \O
I’“‘\

From which of the Harappan period sité has the
evidence of an inscription been found? v
(A) Rakhigarhi (B) Lothal =<
(C) Mohenjodaro (D) Dholavira
freg & & FpE FewTEEE W ¥ ga UE e &
Fre foreran &7 <

(A) TErEl- (B) g (N
(C) wresiest (D) s [f

(A) Soni family !

(B) Khandelwal family 3
(C) Gehlot family

(D) Shekhawat family

qr FET T A AR BA-EE fepy

38

39

(A) @ i@ N
(B) @usw@dre gf@n Vo)
(D) dramEd 9@ 28]

=4

G =T et
Hemananda Biswal was the first Tribal chic!
Minister of : § ki
(A) Odisha = ‘

(B) Assam ¥

(C) Madhya Pradesh

(D) Arunachal Pradesh

R e, o 3 e et
yEriEr A '
(A) anfsem

(B) o .-

(C) wem wayl

(D) STEvTEE WadT

The following pie diagram represent the teachers

working in a college in five different faculties. If
the total number of teachers in the college is 108
then how many more teachers are there in total of
Arts, Law and Education than the remaining two
faculties?

,mewmﬁmﬁaﬁ%

Wﬂ‘fﬁi&mﬁaﬁrmﬁﬁaﬂm%mﬁmﬁmﬁ
& 128_&1&{65%3&@,_@@@&_@%@6&1%
w3 g § fea st €7

Education
- farem X
40° Commerce :
I-é?f:; a 90° Bl
Science 80°[ . Arts
foem e L I o>
,S‘o
(A) 7 " (B) 4 @Y _.__—Lw
‘g
130
(© 5 D) 6 Prruy o,

| 3 -3 £

In which year Amir Khan was recognised as Nawab® !
of Tonk by the British?
(A) 1823 A.D. (B) 1816 A.D.
(C) 1817 A.D. (D) 1818 A.D.
ol A onlit @t @y Rew A A % A B AT
Ve @l ?
(A) 1823 3. (B) 1816 %.
©),18174 ~ O 1818 <.

[ Contd...
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40 On which occasion the female costume Pomcha is | 44 Which of the following plants yield fibre, oil ang

worn fodder?
G8) Gangoe Kostival (A) Jute (B) Flax
(C) Cotton (D) Groundnut

(B) Birth of child

(C) Engagement Prefafag ¥ & feg aew & S, A9 @ T AT

(D) Hariyali teej festival Aar 7

et ene W R5E SrgEt X g ST ¥ ? (A) T * (B) ol

(A) T (C) wurE (D) e

(B) figy & s« '

(€) wmg 45 Who is involved in research work for conservation
(D) &fawd v of vultures in Rajasthan?

(A) Anil Chopra

(B) Dau Lal Bohra
(C) Bhawna Tanwar
(D) Sumer Singh Bhati

41 On the recommendation of which committee was
Matsya Union integrated in Greater Rajasthan?

(A) Varma Samiti

(B) Fazal Ali Committee 2 e ¥ frg g % g sgEd w1 &
(C) Vyas Samiti wg?

(D) Shankar Rao Dev Samiti (A) e dast

T | BT geq et ¥ fee afif @ R © (B) 1% @& @Bl

feman man ? (C) & de

(A) @i wfifa (D) g Rie Wi »

(B) &wid afelr @il

46 From the following peaks of the Himalayas, which
is NOT in Nepal, is -
(A) Makalu (B) Annapurna
42 If P's income is 40% above Q's, then how much (C) Dhaulagiri (D) Kamet .
fererg @ Prefifaa Dl § & S Auw § 7@ E,

percent is Q's income below P's?

(C) =g affa
(D) siHTE 39 ik -

aft P & ama Q & 40% aifua ¥, @@ Q &t I P TPWTE— .
gﬁmﬁrmmm%?, (A) ] (B) e
X 4 (C) dmfirs (D) ®Ee
9 L(A) 28;% (B) 40%
7~ i 47 Choose the words which are nearly opposite in
b wfs° (C) 28% (D) 28;;% meaning to the underlined words :
/Eﬂ Abolish
W _ T —
k 43 Which programmes are directly related to famine (A) Obm‘?mte' (B) Conf?”“
e relief? (C) Terminate (D) Eradicate
Bl (A) Desert Development Programme and Desert o
)l Q/W’] Prone Area Programme both 48 Leopard rehabilitation programme is initiated at
(B) Desert Development Programme T —
(C) Desert Prone Area Programme , (A) Jaipur zoo
(D) NAREGA (B) Bikaner zoo
Sl il e & e vy 37 (C) Jaisalmer Cacti garden
. ' ~ (D) Kota zoo
(A) woerda faam w@HEa ot i &
FHEA G L degen gate wrmH g6 o T -
B e : (A) YT SIS Ee
(©) a1 g i wmmw ®) S
(D) Ty (C) raemt ATEA A ¥
(D) @1 S W
w1 4
6 [ Contd..
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; .+ which of
In the absence of Governor of State, who takes the | 55 'Barchan' land forms are associated with W

responsibility of its office? the following physical regions? .
(A) Chief Justice of State High Courts (A) Plateau region (B) Coastal rt.3g30"
(B) Chief Minister (C) Desert region (D) Hilly region
(C) Speaker of State Legislature qrE Wil e ¥ ¥ {6 i R
(D) Chief Secretary deftg 7
b, {8 il - i (A) Tordl T (B) ég WA
(A) I=a e & JEd A o £ (©) o W (D) T T
(B) gem-w=h :
(C) Rrurenn see 56 Ranipur Wildlife Sanctuary is declared as Tiger
(D} E@ Eﬁl?-[ Reserve of .
(A) Odisha (B) Bihar
The value of ( (C) Uttar Pradesh (D) Jharkhand -
log,2-log,3 - logs4 - loge5-log,6-logg7 is - : ilg:ﬁgq-;i 2 e B
10g3%2 -log,3-logs4 - logg 5 -log,6-logg7 &1 (A) eﬂ%&nw l (B) R
LA ¥ ‘

: | (C) SOT Wy (D) #@vs

(A) y (B) 3
57 Prefafas ¥ ¥ few = ¥ €2 ww @ ¥7

©) = D) + (A) g «(B) e

2 5 (C) T (D) Shaa-—HT

Choose the appropriate one-word substitution :
One who plans and draws the design of buildings
—————, P . A
and superintends their construction.

58 Government of India has fixed the goal to achieve
TB Free India by

(A) Compositor (B) Designer Circicroards SN U L S LG R
(C) Draughtsman (D) Architect « fruffea foram %1
= (A) 2028~ (B) 2025
If cos®+cos>0=1,then what is sin’0+sin*0 ) 2027 _ @) 2030
i " A 59 R. Praggnanandhaa is a famous player of which
afr cosO+cos’@=1 %, dr sin“6+sin" 0 Cascd sport?
quat & ? (A) Billiards (B) Cricket
(A) 2 (B) o (C) Chess (D) Hockey
] ' AT, T R W & IS flaas &7
©) 3 (D) 1 A fatmads (B) Fnene
! _ (C) @it - (D) ®tent
Where is Rajasthan Spinning and Weaving Mill
located? _ 60 On 15t November, 2022, Falcon Heavy Rocket was
Eé) gh'“’ad‘ E[B); g{:’?erara launched by which organisation?
) Deawar i (A) Chinese Space Agency
fqfi wue faRdT 5 wonfrd ?
qrorer A G0 ﬁm@ﬁ BT E (B) European Space Agency |
(A) fat (B) & (C) Skyroot Corporation
(C) = (D) - (D) Space-X Company :
. : | wat, 2022 B ReE ST &0 EeE wdl e
Which number system is generally adagt_id in a <t R T2 il SRl S Do

typical 32-bit computer? _Nid 1« . _
m&m’ﬁbirwﬁﬁ—zﬁﬁwwﬁm (A) 9 siafe Toid g

qrer fopan S & 7 (B) P WF T Ew
(A) 16 (B) 2 (C) ThE&Ee HUeH &
(€) 8- (D) 12 (D)&ﬁmﬁm
AMG ] :{l':- 7 [ Contd...
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61 An example of electrophilic substitution

62

63

AhAce

reaction is -

(A) Formation of ethylene from ethyl alcohol

(B) Chlorination of methane

(C) Conversion of methyl chloride to methyl
alcohol

(D) Nitration of benzene

EREEAR iﬁ:ﬁmﬂ arfwfiean &t SawT ¥ -
(A) TR RETT & e P

(B) Mg Fwri-Naor

(C) frafsw awirge @ fregm deverar ¥ aRad
(D) ¥z T

Brerdifr s ¥ -
(A) L(B) gz
©) ﬁmﬁ‘rj (D) g

i ;
The healthy bacteria that synthesizes B-complex

vitamins in the Gastrointestinal tract -

(A) * Staphylococcus aureus

(B) Badillus cereus

(©) Biﬁ:‘dgbacteria

(D) E. colj

e ST o St T - fef
e e ¥, T & -

(A) W AT

(B) &mﬁaiﬁrm |

(©) et (RAET)

D) % %@r{. . |
do

64 Which ofthe following is the type of Iron-ore?

(B) Galena
(D) Haematite

(A) Anthracite
©) Bit%inous
et & e re—oraeh &1 e €7

(A) TaHTEe (B) e
-
(C) Tz (D) T .

i

_ et

65

66

67

68

Read the following passage and answer the
question that follows :

The human mind, like nature, abhors a vacuum, it
must be kept constantly supplied with ideas and
ideals, great and noble, which in their turn will
inspire great and noble work. Unfortunately, there
are people who want to avoid serious thinking and
prefer instead idleness of mind and body. So, in
place of active, ennobling ideas, their minds are
filled with loose mean and foolish thoughts which
slowly corrode all nobleness and replace it by evil

and mischievous notions, such men then do not

shrink from any evil and freely indulge in quarrels,

. thefts, robbery and even murder. The only effective

way of saving a man from such a terrible fate is
to keep him constantly occupied with various kinds
of useful and good work.

Choose the most important idea of the passage
from the options below :

(A) Some people like idleness of mind and body.
(B) Man must be kept busy all the time.

. ©) Idle persons do harm to others.

(D) Always keep occupied with noble thoughts
and ideals. :

Shortcut key to save a document in MS Word is-
g 7€ § SEgATE H ¥E ST B qieHe Hon & —
(A) Ctrl+P (B) Ctrl+O
r(C) Ctrl +S (D) Ctrl +F

By which optical phenomenon does the splitting
of white light into seven constituent colours
occurs?

(A) Interference (B) Refraction

(C) Reflection (D) Dispersion

R el ST 3 EI Eha W B {aHe
Hued auit ¥ o & 7
(A) eafqsT

(C) T

(B) ruadA
. (D) @i fadr

Which one of the following tributaries of Luni
does not originate from Aravali Hills?

(A) Jojari river (B) Jawai river

(C) Sukri river (D) Sagi river
Wﬁ%@ﬁ—ﬁ@ﬁﬁmﬁm\aﬁ
qeifedl A ST T T ?

(A) Sl T J(B) v

(©) gHé T (D) &l

| Contd
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69  Which operator is used for absolute cell reference

in MS Excel? I .
un, Uy Yade § HA-A1
¥ foro ey fpar omar 7

v(A) = B) $
(&I (D) ?

70 Ramon Magsaysay Awardee, Ela Bhatt, who pnsscd
away on November 2, 2022, was known for the
foundation of . T
T el e v e g, o 2 149 2022
R Pem ot omm @ & g EIR
ST 4 \-

(A) WHG (B) VSSC
. (C) IRDA (D) SEWA
71 Swami Dayanand Saraswati was associated with
which district of Rajasthan? '
(A) Ajmer (B) Jaipur
(C) Kota (D) Bharatpur
i zgER a1 wa T & e R d
woar?
(A) =THTe (B) @YY
(C) == (D) @YX
72 In between Teesta and Dihang river Himalaya is

known as -

(A) Assam Himalaya

(B) Punjab Himalaya

(C) Kumaon Himalaya
(D) Nepal Himalaya

waige Aol Vhif

forman i feei =+ % 9 R s ST & -

(A) @9 femrerg it
(B) dwmg feqreg .

(C) gur] femrera

(D) - feqreg

73 Choose the most apt English translation of the

following sentence.

dg Il 91l 9411

(A) He was narrowly escaped.
(B) He had a hair escape.
(C) He had a narrow escape.,
(D) He had an escape by hair,

(A) & &ad 2

(B) #ramil wug o @ )
(C) 9% 9am ¥ ux forgamn %1
(D) gom guir &T TE ¥l

AATY 1 el

75

76

77

78

7

80

by

763 @ R T T % T HarE §

T R A 3 R e Tt

(A)12047 (B) 2040-

(@)]2044 (D) 2046
O .

Complete the following sentence choosing the

cqrpect preposition. T :

I somehow managed to walk the

" “broken bridge. .

(At)-‘l“at (B) between

(C) across, (D) in

Spage mission named Artemis 1 was launched by-

(4;1\1 ESA (B) ISRO

()~ JAXA (D) NASA

oﬂ%\aﬂ 1 e eiafeer fagr @it fvan T -

(4 ],}ESA FARY (B) ISRO @10

((_ZFL{JAXA U e (D) NASA @I

Tﬁiﬁflh edition of Khelo India Youth Games,

2022 will be held in which state?

(A) Haryana (B) Gujarat

(®)+Madhya Pradesh (D) I;Jltawr Pradcsh

A ERar gu T, 2022 @1 fgal Gt e T

# (e fean S ?

(A)~erammey (B) T

(@) )aeE R (D) SET Wa
:: | Contd...

: . . sr Sector
Which agency financed Rajasthan Water

Restructuring Project in Desert Area?
(A) Asian Development Bank
(B) World Bank
(C) IMF
(D) New Development Bank
TN % 96 o ?71 T E:pfa-—{ qf s &l fad
W R uer Y B R
(A) uftrer saauiyz 4 .
(B) faga &% - .
(C).y et gz .

O ;
Wﬁlqy was National Rural Employment Guarantee
ACt was enacted?
(A() January 2008

(Oy~Octobar 2006 (B) September 2005
ctober

(D) February 2005

T e st ey aifufrw e e 5 7
(A) =l 2008 (B) @t 2005+
(CYHarFa 2006 (D) wEadr 2005

N '

Im chis address to the nation on its' 76"
InEiependence Day, Prime Minister Narendra Modi
se&tl]e tone for a 'Viksit Bharat' (Developed India)
tvhich year? S
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81 Which river is not a
river Ganga?
(A) Ghaghara

left bank tributary of the

(B) Kosi
(C) Yamuna o
: (D) Gandak
T, S B P -
A RUREE S0 L ——
(A) = (B), #h «
(€) g (D) vz

82 In which district of Rajasthan
irrigation project 'Parwan' is und
(A) Chittorgarh
(C) Banswara

er execution?
(B) Jaipur
(D) Jhalawar

o & frw it o agor s Riard qﬂ'u'\am; '
Pt &7 !
(A) fademe (B) wOgR

(C) sigamt

(D) #AEE -

83 Which place is famous for Nanll;ia?

(A) Barmer (B). Tonk
(C) Jaipur . (D) Bikaner
e % g FF-T we uirs # 7
(A) TR (B) 4% »
(C) Ay (D) T

84 In a concave lens, the image formed is always :
(A) inverted and virtual

(B) erect and real

(C) erect and virtual

(D) inverted and real

Saae w9 § e s g ¥ -

(A) Tva Td ST
(B) ram ud

(C) Erur T T
(D) w1 T

85 Which Article in the Indian Constitution deals with
the amendment procedure?
(A) Article 368 (B) Article 352
(C) Article 356 (D) Article 268

| e WA % P orgeE A diaar deitr s
| & &
(A) s 368 «  (B) agavE 352
(C) @3 356 (D) @rgevE 268
86 Which of the following style of painting is known
for paintings based on Gitgovinda?
(A) Kishangarh - (B) Marwar
(C) Mewar (D) Mewat
ﬁmﬁrﬁaﬁﬁﬁaﬁﬂ—ﬁrﬁﬂﬁﬁrﬁﬁrﬁﬁzwaﬂuﬁa
frsif % Ry ol S E 7
(A) fsrTre (B) HI@E.
(C) #arE (D) #am
| 4MG ] =,']=

a multipurpose

87 A computer device mainly used to provide harg

copy is
(A) Scanner (B) CRT
(C) Printer (D) Card reader
Fvapey f5arza qer &0 ¥ o1 Al wer e
& ford wwgm # amar %1
(A) BT (B) CRT
,(C) firx (D) @ré st

88 Which is the first state in the country to constitute
a 'Department of Peace and Non-violence'?
(A) Gujarat (B) Punjab
(C) Rajasthan (D) Haryana:
‘e ofit erféar fam’ nifea &0 aren 3o & gee
T BA-a § 7
o (A) TR (B) ta
(C) =™ (D) #feamm

89 The missing term in the following series
37, 40, 45, 52, 61, 72, 85, ? is

2 ?'_‘ ‘%"ﬁg @,a. qf":% ' v
37,740, 45, 52, 61, 72, 85, 7
(A) 101 (B) 98
(C) 99 - (D) 100
90 The page to create presentation in Power Point is
called -
(A) slide
(B) sheet
(C) paper

(D) document

Wmﬁmmﬁi%m&ﬂm%“
o (A) WSS (slide) :

(B) sz (sheet)

(C) ux (paper)

(D) STEHE (document)

91 o ¥ faww W o AT E -
qmaﬁaﬁw.ﬁ%mmmsmﬁaﬁ

(A) S _
Wammiﬂﬂtﬂﬁmﬁﬁmﬂmmﬁm
SIS
(B) Rl T w3 T ai ® e
feran W &1
(C) et N A T e A A e
fgr
. (D) s o e e ¥ fo w8
10 [Comd-
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92 If a person has AB™ blood, who can don:;e
blood to him?

R T @i B W@ ABTE, @ I S T
BT GHAT & ¢

'(A) A, B O, AB~

(B) At B, O, AB*

(C) A-$ B+’ O+" AB~

(D) AB*, AB~, O%, 0

93 What are the commonly used catalysts for the
Fischer-Tropsch synthesis?

(A) Given all (B) Ruthenium

(C) Cobalt (D) Iron

%&R+;mﬁsmﬁmmaﬁg@a: @ & -
v (A) TR ™ a9 (B) w&f@w

(C) @R (D) e

In a code language DEBTOR is written as
DGFTQV then how ENWRAP will be written In

the same code language?
EBTOR @t DGFTQV frar w &

94

wH TW A D

qr =@ g2 W § ENWRAP @t fFg v feen
S ?

(A) TCRGPY (B) GPYTCR

(C) RCTYPG . (D) YPGRCT

95 Which of the following is an autoimmune disease?

(A) Alzheimer's disease

(B) Cystic fibrosis

(C) Sickle cell anemia

(D) Rheumatoid arthritis -

Freffad § @ @1 91 TF SRS W ¥ 7

(A) HearEaT T :

(B) faftes wmgaiiad :

(C) Tama &« T »
(D) gheEe sndEied

9% ‘THE’ smmaé"rdﬁkﬁmk%—
(A) U@ + U& (B) 0% + T& «
(C) Twat + T (D) Th + UH

97 Nobel Peace Prize 2022 has NOT been awarded
to activists from which one of the following
countries?

(A) Philippines (B) Belarus
(C) Ukraine (D) Russia
e aify er-2022 Frefifa & & fow 20 F

Hmaretl & Tl fedr Tar?
(A) Tefedig (B) TEd «
(C) T (D) 9 «

4MG ] S

11

- 1 vV

98 Due i

ofE I:? f”e"‘!‘y relations of the Kachhawaha rulers
. atpur with the Mughal emperors, the coins
;ued by them ‘were known as ,

EC% .lljh'arshahi (B) Vijayshahi

b anl':rg:‘f N (D) Bhiladi

HEAET OS] ‘21:1 B el %5&&135 ’
FER o Ll -

(A) wmandy,
- (B) feorasmér
(€) dmmx : (D) ﬁTﬁ‘I’eﬂ'
99 If AABC=
i C-h—.APQFf and AABC is not congruent to
Q. then which of the following is not true?
3¢ AABC = APQR e S % et
gt T AABC, ARPQ% waiTE™
Frfafad & & am- ‘
(A) BC=QR (B) fcﬁ—ﬂp?{a ¥
(C) AB=PQ (D) BC =PQ
100 ‘AR’ & watgEmr T8 § -
(A) dEH (B) ®rn
©) 7. (D) &=
101 The ratio of the son's age to the father's age is
1 : 4. The product of their ages is 196. The ratio
of their ages after 5 years will be -
% A U9 I [T Y Sg B ST 124 ¥ I
oy T TP 196 %1 5 a1 I g H srga
(A) 4:13 (B) 3:10
,(© 4:11 (D) 5:14
102 ‘A% ¥ - suet ¥ 7
(A) W (B) @
.(C) (D) W
103 w.a;mgﬁmﬁwﬁmsﬁ%_
(©) o - (D) SR

104 SD RAM stands for
(A) Serial Dynamic RAM
(B) Straight Dynamic RAM
(C) Surface Dyamic RAM
(D) Synchronous Dynamic RAM ¢
qaé’r“m(SDRAM)éamﬁ%* '
(A) @i st % (Serial Dynamic RAM)
(B) B swifi (Straight Dynamic RAM)
(C) qThE SAfiE w (Surface Dyamic RAM).
(D) R TR ¥ (Synchronous Dynamic
RAM)

e

[ Contd...
t I o

Yz Y43
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105 The average of 15 numbe

®
1

&O

L

rs is 40. In these average
and the average of last
: J ue of eighth number is -
15 m?;azlajreﬁaa 40 ¥ T yam 8w
ai'ma_ mﬂrqfimaﬁmcﬁﬂﬁso%a‘fana‘cﬁ
@ & uH F -
(A) 30

(C) 40 «

of first 8 numbers is 30
8 numbers is 50. The va|

(B) 45
(D) 35

106 In the Birmingham Commonwealth Games, 2022,

India won ___ medals. "
e e A, 2022, A A ws A
(A) 61 B 35+ 4

(C) 49 (D) 51 »

i

107 The adjacent angles on a straight line are in the

ratio 5 : 4, then the smaller angle is- .,
@wmwmm5:4%wﬁﬂ3%,aﬁ
BIZ BT B AH & - e 09

(A) 90° (B) 60°

(C) 70° - o (D) 80° Y3

108 In which of the following States 'Hirakud' dam

is situated?

(A) West Bengal (B) Haryana J

(C) Odisha (D) Jharkhand

@T@z’ﬁuﬁﬂﬁiﬁmﬁﬁﬁwmﬁﬂm%?_
(A) diEEd, 9 - (B) efa@mm
(C) aifssm (D) FRES

<t
kiwi for Z 40, a man loses 20%. How

n 20% in the

Lol

109 By selling 8
many should he sell for Z 30 to gai

transaction? _ X
8 @t T 40 § JaH Tt B 20% B TEE
ﬁar%lmoﬁﬁmﬁzﬁﬁzﬁéweﬂw%mgmﬁﬂﬂ
(A) 5 (B) 2
(©) 3. (D) 4

110 Chbose the word that is nearest in meaning to the
underlined word : TN

Pernicious

(A) reticent

(C) innocuous ,

4MG | "JLLI:'

(B) harmful
(D) conducive J

go ke -
LAt
61

x

"~

e ®

R

¥ 1°
111 In how many districts Dang A
Program is being implemented in Rajasthan?

Wﬁ%&mﬁﬁvﬁﬁﬁﬂ&hﬁmmm
fRpar = @1 #7
(A) 8
©) 12

-

rea Development

(B) 6,
(D) 10

112 Which file system Windows 10 uses?

(A) LMFS (B) FAT 16
(C) FAT 32 (D) NTFS

gk 10 Fr-ar B few warm Fwn
o(A) TATATHIH (B) %z 16

(C) %z 32 (D) TTETETH

113. Due to its semiconductor properties the non-metal
used in computer, T.V. etc. is -

(A) Fluorine (B) Carbon

_LO) Silicon (D) Sodium
arefaer o7 % B0 HEE, AT, anfx & S9an
T A YTy § -

(A) TS 3

(C) fafere f‘,—}a(mmggoa 1
2 ond ‘\(f":_j r&.

m.?{fﬁs_#—"’z 3 "

114 The simple interest on % 78,000 at 6§% per annum

for 9 months i;:. N

2 "
% 78,000 &1 6% wiw T ol T | 9 HE HT FETT
3. :

e ¢ -
+(A) T 3,900 ¢ (B) ¥3,300
(C) ¥ 3,500 (D) ¥ 3,600

115 In which state was Praja Mandal founded by
Raghuvar Dayal Goyal in 19427

(A) Bikaner (B) Bharatpur
(C) Jaipur (D) Alwar

frr Poarea  TgER ZOW e A 1942 H we A

A g @ 7
(A) A& (B) &YX
(C) gt (D) et

12 | Contd..
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116 The question figure can be rotated in any direction

but can not be lifted and turn. Identify the correct
figure from the given answer figures which can
not be obtained by rotating the question figure.
7T o @t feedt o Rsw F gwman s wwar ¥ w{g
T I T A& W ATl v a7 ngfadl ¥
¥ T9 WO MR B TEEE BRI Ry wed Arpki B
THIHT W el fohan S waban §1

Question Figure / 9% i

)

Answer Figures / St swgfaail

(¢ 2
p| ofe

117 The Indian Wildlife (Protection) Act was
xmplememcd in the year

(A) (B)

(D)

9

wrdT geE (dvE) sfatad aﬁ? %
ol

(A) 1992 (B) 1962

(C) 1972. (D) 1982

118 Fill in the correct word :
ct word

Both Mansi and Milli the answer.
(A) knowed —  (B) know »
(C) knows (D) knowing

119 Gluten free diet is prescribed for patients
suffering from -
(A) Hepatitis - (B) Celiac disease
(C) Hypertension (D) Diabetes
Toee T AT e A % fod yefad faar st

*?ﬂmfa'a?—
e (A) WW”H (B) diferas T |
(C)Tﬁxquﬁ (D) ayfE @

120 How much reward is provided to couples under
Dr. Savita Ben Ambedkar Intercaste Marriage
Scheme in Rajasthan?

o A el afad a9 ardeet s fars
AT % arTd WSl @l foenr 3 fean S & ?
(A) T 7 Lacs /@@ (B) %5 Lacs / @@
(C) % 2.5 Lacs / @@ (D) ¥ 10 Lacs / @@

) was

121 Indian Space Rescarch Organization (ISRO

formed in ;

Biraiel siafeer Ll S ¥ enfud
g3l

(A) 1985 (B) 1963

(C)' 1969 ~ (D) 1972

|' "\

122 Clloost. the correct option :
A t{.ndcr is a written lnfurnmtlon/mwtatlon

(A) sent to private institutions only

(B) sent to potential suppliers of goods & services
(C) sent (o buyers for goods & services

(D) sent for govt. institutions only

rI

123 WI ich of the following bridge was connectmg link
bulwccn Russia and Ukraine? -
(A) Kerch Bridge  (B) Nook Bridge
(€), Mariupul Bridge (D) Irpin Bridge
ﬁaﬁiﬁaﬁﬁﬂaﬁﬁ—mgawamqmmﬂﬁﬁm
fetw ar?
(A) &9 forst

- © wfeqger fort

BN
124 ’Choose the correct indirect speech of -
He said to her, "If what you say 1s true I must go

(tothe olice." —
(A) He said that if what she said was true I must

go to the police.

(B) & ot
(D) 3= =

'(B) He said that if what he said was true, he
... would have to go to the police.
(é) He said that if what she said was true, he
U\ must go to the police.
(D) He said that if what she said is true she must
., 80 to the police.
125 With regard to ecological food chain, man is a -

(}'ﬂi) Producer & decomposer

(B) Producer

(C) Consumer

(D) Both producer & consumer
WY S & SFET, T A -
(A) e UE AqETh

(B) IdE®

(C) TUHE

(D) SeTEd TE SUIEl S

126 A human somatic cell has chromosomes,

U WA B B § TR B &
e (A) 28 (B) 23
(C) 46 (D) 50

AMG | .=,’}=
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127 The ex X
ca\ ations at Kalibangan were carried out in

how n levels?

(A) Blght (B) One

(C) Three (D) FIVC

PR BT ST 1 Boasy @i § e mar?
(A) e (B) ™

ORLE (D) Wi |

128 A metal which does not form a mononuclear
carbonyl is - ey

W“‘@?ﬁwﬁaﬁumﬁﬁa?ﬁm% % -
(A) V (B) Mo
(€) Fe (D) Ca.

129 Who is considered to be "The Father of Artificial
Intelligence"?

(A) Mark Zuckerberg
(B) John Mc Carthy
(C) Allen Newell
(D) Alan Turing i
"% WIET A6 ST 3%&1#& 81 W ¥ -
(A) wH JHEt &

» (B) ST Wt &
(C) wem =dw &l

’= (D) e =T @t

i 130 Which number should be subtracted from 23, 30,
' 57 and 78 so that remaining numbers are.in

"

' proportion?
' 23, 30, 57 3T 78 & & P-4 dew gerg 9 fF A
1t e e A ?
4> 77 (A) 9 (B) 6
©) 7 (D) 8

131 Choose the correct option given below :
They gave her a clock. (change into passive)
(A) A clock was being given to her.
(B) She was given a clock.
¢« (C) A clock is given to her.
(D) She has been given a clock.

132 If the following words are arranged in alphabetical
order, which word will come in the middle?

iy Fr=fafaa s @1 aviwarER @atyd fEar wg
@ BT 9= qeg ® e ?

Cheaue Cheroot, Chebse, Cherish, Chemlse

(A) Chemise ,(B) Cheque

(C) Cheese- (D) Cherish

4MG | +

e e—

s

133 Can Governor promulgate the ordinance during
the session of State Legislative Assembly?
(A) On the advise of Council of Ministers
(B) Yes
(C) No
(D) With the prior consent of President
1 T U9 % faered & 99 ¥ W@ & i
sty Al & wHd ¥ 7

. (A) HPwReg @ gaw &

(B)
(C)
(D) gafy B qafgafa @

134 (x'+5x° +6x?) is equal to -
(x* + 5% + 6x?) TET & -
(A) x(:2+2)x+3) (B) FPx+3)(x+2)

©) x(P+3)x+2) (D) x*(x—3)(x-2)
135 Prefafaa & & W &1 sP@ds 9= 99 ¢ —
(A) ¥, 9@, TR (B) 4w, W, fires
, (O @, 5w, v (D) &, g, 4w

136 Where is the new reserves of good quality of lignite
found in Barmer district?
(A) Merta (B) Palana
(C) Kapurdi (D) Barsingsar
Tt R & ol e & fmge % Tiém ®el

P 7
(A) #sa (B) e
. (C) &L (D) =xfdiEEy

137 Fill in the blank with the correct determiner,
choosing from the options below :

There is milk in the glass; you can use
it to make tea.

(A) any (B) a little

(C) no « (D) little

138 A pole 6 m high casts a shadow 243 m long on
the ground. At that instant, the angle of elevation
of the sun is -

wH 6 A Sar @ A UT 243 W A B ST
3ol au gl @ S A E -
(A) 90° (B) 30°
(C) 45° (D) 60°

14 [ Contd...
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139 The space craft launched by NASA to study the
Sun 1s - ’
(A) Parker Solar Probe
(B) Probing Sun
(C) Mission on Sun
(D) ‘Hawking Solar Probe
Tl N S S o S & vaite s A € -

» (A) UHT FET W
(B) WifEm &=
(C) g™ & &=
(D) ®eT He W

140 Which committee recommended to abolish existing
bench of Rajasthan High Court at Jaipur in 19587
(A) Suresh Mathur Committee
(B) Satyanarain Rao Committee
(C) Girdhari Lal Vyas Committee
(D) Madhukar Gupta Committee
e it o1 Rageriear T 1958 ¥ TR IS A

% T §9 F g QT e
(A) gLy WYY wHfa

«(B) ¥@@T T
(€) frard W = whld

.s(D) FYHT T WA

141 Choose the correct alternative in which missing
letters are in that order.
w1 Free & 99T Sy e ga e W wH
T @l
_bab_a__ab_ _
(A) babaabb
(C) abbaaba

L%

bb _
(B) bbbbbaa
(D) bbaabab

142 The fair related to which Tribe is held in Sitabari?
(A) Kalbeliya (B) Garasiya i
(C) Bheel-Meena (D) Sahariya
AararEy § faw ST @ gEiag W e

(A) FTafmar e @(B) TREL

(C) “ra—+m e (D) @i
143 fg g/ & oredivIg GHIE TE &7
(A) W (B) gwi
((C) A (D) wfife

144 The State Council of Ministers shall hold office
during the pleasure of the -
(A) Party President (B) Governor
(C) Chief Minister (D) Speaker

g AfGREg oA U 9T & T & &
yqe dd |

(A) Uil oremE (B) U

(C) qeawsi v (D) wrat

MG ] S

145 When data changes in multiple lists and all lists
are not updated. this causes :
(A) Data Inconsistency

(B) Data Redundancy

©) Information Overload
(D) Data Concurrency :
aﬂﬁéqﬁlﬁﬁmmmtamqﬁmaﬂh
48 B, T e ¥ E [
(A) s TR

(B) s ERL)

(C) e aTErs

(D) =TT HiBL

District Judges are appointed by -
(A) President of India

(B) Chief Justice of India

(C) Chief Minister

(D) Governor

fren ey Frgaa Rl o ¥ -
(A) W & TR &

(B) Itd % eI i &

(C) e w3l &

o (D) TG E

146

147 The far point for a normal human eye is at -
(A) infinity
(B) 25 cm
(C) 50 cm
(D) between 25 cm and infinity

[Ty " % T g fag wm -
(A) aFTd T
(B) 25 ¥W W
(&) 50 T 9
2 (D) 25 it ot o % A A

148 ‘BT WX {F T O qeraX o qer il ¥ —
(A) g atE s (B) @ SO FHT
(C) ga ufs™ & (Q)mﬂ'&az‘m

149 Where is Rajasthan Petro Zone located?
(A) Jaisalmer (B) Alwar
(C) Jodhpur (D) Barmer
o IS FEl Red ¥ 7
(A) SrEeET (B 3@
(C) Fu « (D) arsit

150 weaw qeu G B wan e ave ¥ far man ¥ 7
(A) & & =)
(B) &My M & T &7
(C) & a9+ 39 ol S|
(D) 9% T @l M1t
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